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SECTION — A (1x10=10)

Q1. Tick the correct option-
(1) Read the following statement and choose the correct option-
Statements —
Q) Every integer is a rational number but a rational number need not be an integer.
(i)  Every positive rational number is less than zero.
(iii) 2 Isanirrational number.
(a) Statement (i) and (iii) are correct but (ii) is incorrect
(b) Statement (ii) and (iii) are correct but (i) is incorrect
(c) All statements are correct
(d) All statements are incorrect

(2) The product of 63 and 0.63 is :
(@) 39.69 (b) 129.6 (c) 1296 (d) 1.296

(3) The scientific notation of 15690000000 is
(a) 1.569 x 10%° (b) 15.69 x 10° (c) 156.9 x 108 (d) 1569 x 10’

(4) When two parallel lines are intersected by a transversal, how many pairs of alternate interior
angles are formed?

(a) 4 (b) 2 ©1 (d)o
(5) Replace (*) by one of the following symbol
2 * 15 | =
5 20 10
(a) + (b) - (c) = (d) x
(6) Three positive integers a,b,c are said to form a pythagarean triplet, if
(@) a% =b? + ¢? (b)axb=c (c)a+b=c (d) a2+ b?+c?=180°
(7) The sum of any two sides of a triangle is
(a) Equal to the third side (c) greater than the third side
(b) Less than the third side (d) none of the above

(8) The equivalent rational number of — g is

3 3 15 3
(@ - (b) —= © -~ d)-—;
(9) 91.34m as mm :
(@) 913.4mm (b) 91340 mm (c) 9.134mm (d) 9134 mm
(10) Inthe given figure if, LIl m and p is a transversal line. So, 22 = 26 because it is
(a) Corresponding angles //<
(b) Alternate interior angles « —»
(c) Vertically opposite angles < /™ >

(d) Alternate exterior angles




Q2.

Q3.

Q4.

Q5.

Q6.

Q7.
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SECTION — B (2x3=6)
Classify the following type of decimal and state whether it is a rational numbers or irrational number.
(@) 18.464646--------------
(b) 1.643219032-----------
(c) 50.623------------
(d) 7.6130249518011----------------

Fill in the blanks-

(a) If two lines intersect at a point, then the vertically opposite angles are always
7 —_ -

) 5= ©

(c) The value of 8°x 8%x 8°%is

(d)0+8.25=

Find all angles of the given figure- 14Q°

A

SECTION — C (3x2=6)
(@) In the given figure mlin. Find the marked angles
< »L
50

A »
<« »

(b) Can a triangle have three angles whose measures are 65°, 75° and 123%? If not, why?

@ (1) () x () =fumeo

125 x35xt4
t3x30%

(b) Simplify :-

SECTION — D (4x2=8)
(a) A tailor has 20m long ribbon. He used %Sm of the ribbon for a dress. Later he used % of the
remaining ribbon for another dress. Find the length of ribbon left with him.

(a) Multiply the sum of E and —i by the sum ofg and g

(b) Evaluate: =+ (_ %) _ (_ Z)
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(1) What is the range of clinical thermometer?
(@) 0-42°C (b)35-42°C (c)0—-100°C (d)0-37°C

(2) Lichen is the symbiotic association between
(a) Fungi & bacteria (b) algae and bacteria (c) Algae and fungi  (d) plant and fungi

(3) Which is the largest compartment of four chambers of stomach in cow?
(@) Rumen (b) Omassim (c) Reticulum (d) Abomasum

(4) Which chemical makes kallas soil suitable for growing plants on it?
(a) Milk of magnesia (b) Antacid (c) Baking soda (d) Lime

(5) Which of the following best describes respiration in animals?
(@) The process of making food

(b) The breakdown of food to release energy

(c) The absorption of nutrients

(d) The movement of water through the body.

(6) is a safety device which goes “off” on overheating in the circuit.
(@) Alloy (b) filament (c) electromagnet (d) fuse

(7) The following questions consists of two statements assertion (A) & Reason (R). answer these
questions selecting the appropriate option given below-
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c) Alistrue but R is false.
(d) Ais false but R is true.
Q) Assertion (A): Electromagnets are made using alloy.
Reason (R): Alnico is an alloy of aluminium nickel and cobalt.
(i)  Assertion (A) : Photosynthesis is performed by all plants.
Reason (R): Photosynthesis is done in presence of oxygen.

(8) (a) What are organic acids? Name any 2 organic acids with their sources.
(b) Mention 2 daily life based application of conduction of heat.

SECTION — C (3X3=9)

9)
(a) Label the parts of human respiratory system, A,B,C

and D. é%

(b) Name the part labelled as E and write its function.
(c) How is breathing and cellular respiration differ?




(10) Differentiate between (with example any 3)
Q) Acids and bases
(i) Conuection and radiation
(iii)  Uniform and non-uniform motion
(iv)  Conductors and insulators

(11) (a) Draw a well labelled diagram of water cycle.
(b) Write any 2 major causes of groundwater depletion
(c) Write any 2 major methods / process of conservation / management of water.

SECTION — D (4x3=12)

(12) Raghav’s father was suffering from severe stomach pain. He was showing symptoms of heart
burn and indigestion. He consulted a doctor who told him that he was suffering from acidity and
advised him to take an antacid tablet after each meal. Raghav’s followed the advice strictly and
war cured.

Q) Which acid is produced in our stomach?

(i)  Anantacid contains which chemical that neutralizes acidity?

(i)  Explain how an antacid tablet gave relief to Raghav’s father.

(13)  Explain with a well labelled diagram stating working and principle of any 1.
(@) Thermas flask
(b) Electric bell

(14) (a) While adding a indicator in a basic solution it turns green. Which indicator we used also
write about natural and artificial indicator.
(b) Describe the process of respiration in cockroach and fish, also clearly mention their
respiratory organs.
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SECTION — A (Writing)
Q1. Write an E-mail on Introducing a new employee to your team. (3x1=3)
OR
Write a letter to your brother asking him, how he spent his Diwali and describe your experience.
Q2. Write an article on Environment and Nature. (3x1=2)
OR

You recently visited on “Old Age Home” in Bangalore with your friends. Make a diary-writing entry
of what you saw and experienced there.

SECTION — B (Grammar)

Q 3. Tick the correct option- (10x1=10)
(1) These shoes are much quite comfortable for running.
(a) More lighter (b) lightest (c) lighter (d) more than one of the above

(2) Which of the following given option is NOT an adverb ?
(@) Creatively (b) Greedy (c) Rarely (d) None of the above

(3) Ann brought (a new dictionary) Question: What did Ann buy? Noun clause : Do you know
(@ What Ann buy  (b) What did Ann buy (c) What Ann bought (d) What did Ann bought

(4) You can see the doctor 8am and 12 noon
(@) at (b) between (©)in (d) on

(5) Which clause is this Because today’s mail travels so slowly?
(@) Independent clause (b) Dependent clause

(6) early bird catches the worm.
(a) No article (b) A (c) The (d) More than one of the above

(7) Identify the sentence with the comparative degree of adjective.

(a) Ethan Hunt is as great as Sherlock Halmes.

(b) James Caneron’s science-fiction blockbuster Alliens is considered one of the best sequels ever
produced

(c) Tobey Maguire’s portrayal of spiderman is better than Tom Holland’s

(d) None of the above

(8) I have decided that | go to Bali this year definitely
(a) Should (b) Can (c) Will (d) Could

(9) Identify the complex sentence.
(@) She lives near me (b) He reads what he likes (c) Ravish did not like the breaded man (d) None

(10)  Public speaking a skill.
(@) Are (b) has (c) have (d)is




Q4.

Q5.

SECTION — C (Literature)

Tick the correct option - (6x1=6)
(1) What was the name of “Kabuliwala”?

(a) Abdur Rahman or Rahamat (c) Abdual Qadir

(b) Jawaharlal Nehru (d) None of the above

(2) How did the loan affect Mrs Loisel’f life?
(a) She learned the odious work of a kitchen
(b) She washed the dishes

(c) She took down the refuse to the street

(d) All of the above

(3) What is the population of Lakshadweep as per the 2011 census?
(a) 32,846 (b) 64,473 (c) 46,937 (d) 81,629

(4) What will happen when the last leaf will fall?
(@) She will die (b) Behrman will die (c) Johns will die (d) All of the above

(5) Which of the following is NOT a Paralympic sport ?
(a) Archery (b) Ice hockey (c) Wheelchair fencing (d) Rugby

(6) What is the goal of the International Paralympic committee(IPC)?
(a) Promoting inclusivity in sports

(b) Supporting athletes with disabilities

(c) Increasing respect for people with disabilities

(d) All of the above

Answer the following questions- (do any four) (4x2=8)

(a) Describe the theme of the poem winter ‘My Secret’?

(b) What special bond did Mini and the Kabuliwala share?

(c) Write short note on the two islands of Lakshadweep.

(d) How did Johnsy realise her mistake?

(e) On inability to accept our circumstances may lead to an unhappy life. Explain with reference to
the story ‘The Necklace’?
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Q1. Tick the correct option- (1x3=3)
(1) The maintained law and order in their Igtas.
(&) Mugtis (b) Sultan (c) Wazir (d) Diwan
(2) The falls in Karnataka is the highest waterfall in India.
(a) Salto Angel (b) Jog (c) Niagra (d) None of these
(3) The Governor holds office for a term of years.
(a) Four (b) six (c) five (d) two
Q2. Assertion Reason based (1x1=1)
Statements

Assertion (A) — For the development and economic growth of the country’s good health and long life
and essential.

Reason (R) — “Health for All” is the target set by our government.

(a) Both A and R are correct

(b) ‘A’ is correct but ‘R’ is not correct

(c) Both ‘A’ and ‘R’ are incorrect

(d) ‘A’ and ‘R’ both are correct; but ‘R’ is not the correct statement

Q 3. Read the statement and choose the correct option- (1x1=1)
Statement
Q) Exogenic forces operate from within the interior of the earth
(i) Hills of lands are called beaches
(@) (i) and (ii) both are incorrect
(b) (i) and (ii) both are correct
(c) (i) is correct (ii) is incorrect
(d) (i) is incorrect (ii) is correct

Q4. Maitch the following and tick the correct option- (1x1=1)
0] Sediments deposited along sea coast hand
(i) Indian national congress beach
(i)  Head of the state [ltutmish
(iv)  Raziyasultan Governor
(@) (1),(iin),(in),(iv) - (b) (iv),(iiD),(i0),())  (c) (i), (i), (iv),(iii) ~ (d) (), (iii), (i), (iv)
Q5. Case study based- (1x3=3)

e The Mughal empire was established by Babur, who was related to Timur on his father’s side and
changaje khan and with the Mongols, on his mother’s side. In fact, the Mughals did not like to
be associated with the Mongols who were terrible people. The Mongols had often raided the
north-western frontier. They had killed many people. The Muhgals pointed with pride to their
Timurid ancestors, because Timur had seized Delhi in AD 1398. Ibrahim Lodi, the last ruler of
Lodi dynasty was ruling Delhi from AD1517 to AD1526. One of his governors Daulat Khan
Lodi invited Babur, the ruler of Kabul, to invade India and overthrow Ibrahim Lodi.

(@) Why Mughals were full of pride for having Timur as their anustor?

(b) Who was Daulat Khan?

(c) What was the relationship between Babur and Changiz Khan?




Q6.

Q7.

Q8.

Qo.

Q 10.

Q11.

Q 12.

Q 13.

Picture based-
(2)

(a) Identify the monument.

(b) Where is it located?

(c) Who made this and why?

Define - (1)
e Hereditary or Executive

Underline the incorrect words and rewrite the statement by using correct words- (2)
(@) Indian have a life expectancy of around 50 years.
(b) Hills of sands are called beaches.

Give reasons- (2)

(&) Why the authors of history (Tawarikh) foiled to provide information about the life of the ordinary
people.

(b) Why we cannot go the deepest oil well?

Who am | - (2)

(a) Itis a button at the bottom of the EVM which gives the right to votes to reject all the candidates
of a particular constituency.

(b) I am the ninth Guru of the Sikhs-

Answer the following questions in (20-30) words (2x2=4)
(@) In which year did Timur long invade India. Name any two places which he located?
(b) What is meant by the term ‘Discretionary powers’ of the Governor?

Answer the following questions in (40-50) words (3x2=6)
(a) State the points of importance of rock to man.
(b) Write a brief note on Akbar’s religious ideas.

Map work- (1x2=2)
(@) On India political map mark any one state where Akhar’s empire extent
(b) Mark the epiccentre of earthquake held on (26 January 2001)
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g—1 el S} &I fabcd 999 dIfvig— (5)
(1) fFrafafaa § 9 wdam vrsg 8 & forat |
(®) a8 (@) ga @) & 9 @ <Al (&) 3979 4 PIg T8
(2) T@IdT 3 @ &I 28— YWifdhd ek &I f[ABRT Teg &1 A9 91 |
(®) wd=m (@) ds=r () fagryor CIRER]
(3) 49 R YWd &l 3— HRS Id1Y
(@) BT (@) arferdor (1) ®at (&) &+
(4) arsfeal oA 4 @ & - G &1 945 9a130 |
(@) =fdaaras (@) wfaaras (1) 9qE dra® (CIRICEIEE
(5) 98 =} AT 8- fauiyer &1 A< qarsn
(@) FoEras (@) qerarad (1) uRHATeT 9raS (&) doaardd
g—2 fEargar Sar difeg— (5)

(1) afaar =1 & 21 — (fFFar &1 Saufcd @ MR W A5 9q1sn)

(2) srfreaa Heamard fagyer &1 Srevvr falay |

(3) < fagiyor @1 fY fagiwar saw SO T Hed 27

(4) fHHY Teq @ AT FSHR IUD A B Hadl 7, IU T Had o ¢ Ialexvl Afzd Id1¢
(5) @ar, g9 S+l g BI? |dAM T WS A1 |

y—3 f=faRaa gyl & Sax ae afea dfso— (6)
1. &% I FIReR Fa1 @1 war 27 a& afga aarer a1 |
2. "Nl dUe 990 87 — UIS @ IMER WR qdRil 6 A= sruq Sfigq A dlus &9 a97d
2, SSIEUT Qd gU W< & |

y—4 fr=fefad g3l @ Sax a9 @ smaR W difg— (8)
1. "2E AR A" F A9 4 GTHRT U B feIw Ima aar H7?
2. 9IS YA A9 Bl DY TId— YIS @ IR R ISV died W IR |
3. A8 & Wflad H @ &1 @R fHE USR & GHdT 8, SVl Afzd W< N |
4. IS & YT 4 YR AR AT ) yrafiar &1 v a1 |

g—5 fr=fafaa geal @ Scr e @) wefear $1 wx $3d gy qag | (a)
1. "<l <lu® 991d & e @1 arefear &1 Aigrevr |fed 9qd1v |
2. "9fasg o1 Mg ure ¥ fog ¥ © IR ¥ IdT AT &, S<T8¥vT Gfed SdIv |

g—6 fa=iferRad yoaf & Sar difsre— (2)
1. Jodd I AT S WL IR |
2. Yxer¥ fra gea) 31 9fdd a<d 27
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9—1 gt 4l a1 ged— (4)
1. Qa+=EN
2. UY3rdig
3. W+
4. fugarSifa
g—2  JeIrfd sewuridr foreda— (a)
1. 9 es — (vd faufaa, agaad)
2. "IJYAT" F CHdFA” argry el wd |
3. f& srds s yw il god |

9—3 Raaeerdif qxada— (Frscwyrfor) (4)
1. e T
2. Bl 5 L
3. gdep, 00— 73
4 — g ! g odr:!
9—4 FAECHUM dadR gRadd fwd— (a)

1. @ (ACAdR A4 Y&y UHdd-TH)
2. ¥ (I dPR YU YWY dgdd-H)
3. Ug (qc PR IdH Y&y Ydhad-d)
4. GIg (ds. APR AL YHY qgdd-d)
9—5 &: dqfd gfa ferea— (4)
1. OF A 79 S BT Afasafa |
2. 84 98 YDA IT<6M |
3. g4 el sl gfa emefia )
4. ¥ I i A1 Rrfdraar |
g—6 JenfaRadr fewemy e aua— (a)
1. Ha ¢4 79 A |
2. A ST BET: Haf«d |
3. AT JpAAT 79 2T |
4. 4 YTA: S FIq A< T8 W |

y—7 Stua ey &1 999 - (a)
1. "gda" ey 3ref
(®) aft e (@) At e (1) & wTE (&) U SrE
2. "ITHII Ied P: PRD:?
(®) ®at (@) 3rferamxor (1) BT (&) &
3. "9 ves & qEaw?
CIRCEERL (en) feaam (1) IgaaT (|) s 4 PIg T8
4. ——— g 9o fa=mer: |
(®) (@) warfu (1) M- (=) a=
9—8 9w FHiv Hwd | ()

1. <rar YT wE O T |
2. g e Hafa|




